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/ NO4 1T vidx®2RICHHTZHED
ML yIidxD2RICHHIL,x=2,y=—16Td D, || ME6 | yiIxD2RIILHIL, x=3,y =—18Td D,
OHpBlE Sz KD &, OHAIESZ KD KL,
@y % x DR THH, @y % x DR THA,
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@xZE@k%@y@@%ﬁbio

@Dy=—1D0+LtETDOxDEERD X,

i 2

OeplES % KD X,
@y & x DX THEHE,
Bx=—10+LtExDy DEERD X,

@Dy =8DLxDx DffizRD X,

RiE 3

OLflES E KD X,
@y & x DX TEYE,
@x=—3DLxDOyDfE%ERD L,

1
Dy =5 DL EDxDOffERD L.

VIExD2FIZHHIL,x =4,y =32Th s,
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y@2%ﬂ%%bx22q:§ﬁkéo
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Ol ES % KD X,

@y & x DR THRE,

Bx=—20+LtExDy DEERD X,

@Dy=20LZDOx DfEERD L,

fi#H 5

Ox=40LEDy DEZRD X,

Qyv=160L =D x DfEi%ERD L,

VyIExD2FIZHHIL,x =3,y =36Th 5,

@Dx=50DLxDy Dz X,

@Wy=—4DLXDxDEZRD X,

R 7|y IZx D 2FIZHFIL, x=—3,y=—6Th 5%,

OplE Sz R &,

@ Yy %‘: X O)iﬁ‘@%’@_‘o

@x=—20LxDy DEZRD L,

@Wy=—4DLXDxDEZRD X,

file 8

yO2REICHML,x =2,y =5ThHo,

OLFIERZ KD &,

@y & x DA TEYE,

Bx=—2D+LtExDy DEERD X,

@Dy =260 & D x DfEZRD K,

fiE 9

yOD2EICHHAIL,x=2,y=—12Td %,

Ol R &,

@y & x DA TEE,

@x=10LxDy DEERD K,

@Wy=—6DLXDxDEZRD X,
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VIExD2FIZHHIL,x=4,y=—4Tbhs,

Dx=—6DLZTDyDfEZERD X,

@y=—925D L XD x DfEEZRD L,




